

# **SUCCESS4EVER**

www.success4ever.co.in







### DAILY SELF AD VIEW INCOME

LEVEL	TEAM	INCOME (\$)	INCOME (INR)	
Self	elf 0 0.15		9	
1 <sup>st</sup>	10	0.10	6	
2 <sup>nd</sup>	100	0.05	3	
3 <sup>rd</sup> to 7 <sup>th</sup>		0.00	0	



# DAILY TEAM AD VIEW INCOME



LEVEL	TEAM	RATE IN (\$)	TOTAL (\$)	TOTAL (INR)
1 <sup>st</sup>	10	0.02	0.2	12
2 <sup>nd</sup>	100	0.01	1	60
3 <sup>rd</sup>	1000	0.005	5	300
4 <sup>th</sup>	10000	0.0025	25	1500
5 <sup>th</sup>	100000	0.0017	170	10200
6 <sup>th</sup>	1000000	0.0008	800	48000
7 <sup>th</sup>	10000000	0.0003	3000	180000

Note: You Can Earn Daily Rs.2,40,072



## REPURCHASE INCOME

REPURCHASE INCOME IN %								
Level	Self	1 <sup>st</sup>	2 <sup>nd</sup>	3 <sup>rd</sup>	4 <sup>th</sup>	5 <sup>th</sup>	6 <sup>th</sup>	7 <sup>th</sup>
Income %	7%	7%	5%	3%	2%	2%	2%	2%







Note: You can get 199 CASHBACK on our Shopping Wallet.



#### TEAM REFERRAL INCOME

INCOME PER MEMBER							
Level	1 <sup>st</sup>	2 <sup>nd</sup>	3 <sup>rd</sup>	4 <sup>th</sup>	5 <sup>th</sup>	6 <sup>th</sup>	7 <sup>th</sup>
Income (\$)	0.15	0.15	0.15	0.15	0.15	0.15	0.15
Income (INR)	9	9	9	9	9	9	9





# EXAMPLE OF TEAM REFERRAL INCOME



LEVEL	NO. OF TEAM	Team Multiply Income (\$)	INCOME IN (\$)	INCOME IN (INR)
1 <sup>st</sup>	10	0.15	1.5	90
2 <sup>nd</sup>	100	0.15	15	900
3 <sup>rd</sup>	1000	0.15	150	9,000
4 <sup>th</sup>	10000	0.15	1500	90,000
5 <sup>th</sup>	100000	0.15	15000	9,00,000
6 <sup>th</sup>	1000000	0.15	150000	90,00,000
7 <sup>th</sup>	10000000	0.15	1500000	9,00,00,000

\$ 1666666.5 OR Rs.99999990



# ID ACTIVATION REWARDS

- 3<sup>rd</sup> Level Achieved Goa Tour 2N/3D (Only Stay)
- 4<sup>th</sup> Level Achieved Thailand Tour 3N/4D (By Flight & Stay)
- 5<sup>th</sup> Level Achieved Gold And Diamond Jewelry (1lac)

6th Level Achieved - Renault Kwid Car

7th Level Achieved - Maruti Brezza Car



**Goa Tour** 



Thailand Tour



**Jewelry** 



**Wid** 



#### WITHDRAW SYSTEM

❖ Admin Charge : 10%

TDS: 5% (Tax Deducted at Source)

❖ Shopping Wallet : 20%

❖ E-Pay : 5%

**❖ IMPS**: 60%

Closing Time: On 30th or 31st of every month will be closed.

❖ Withdrawal Time : On 1st to 5<sup>th</sup> of every month.

❖ Payout Time : On 5<sup>th</sup> of every next month.

❖ First Withdrawal: \$20 & Next Withdrawal: \$75 and Multiple of \$75





#### **TERMS & CONDITIONS**

- Self Task Earning (without any team)
- ❖ For Team Income minimum 2 active member (Rs199) from your 1st level compulsory and also Own ID must be active.
- We are not accepting any KYC (Know Your Customer) If your sponsor ask for your any KYC then you are the responsible.
- User can change account nominee name under company policy.
- Ad view compulsory to everyone on Saturday, No any holiday and Team Ad View income will no distribute, only self ad view income will be distributed on Saturday.
- User must be activated their ID from rupees 199 till the end of first month after Registration otherwise your all income will be zero.



